Station #1: Piecewise Functions

Directions: Groaph‘ each of the following. Then, state the boundary lines, the domain and range, and whether
or not the graph is continuous or discontinuous.
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Station #2: Parent Functions and

[ ]
Transformations
Directions. Match each equation with a given graph.
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2. State the parent function and the given tfransformations of each of the following:
a. flx)=-1x+3] +2  PpsoVieNOWW,, feflechon, LD VL
b. f{x) =12(x-5)? QCEHOAT G, Sy (2, YRS
c. f(x) =1/3logx+7 LOAOY YOG , CONNYPVESS V'3 3 AP _\ S
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3. Given the function f(x) = x2, write the function whg_)se graph of f(x) is:

a. shifted 6 units to the left Y= (K1)
b. reflected dbout the x-axis ~ \3= = %*
c. shiffted 5 units up M= 5T

d. vertically stretched by a factorof 4y =4} -
e. vertically compressed by a factor of 1/3
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- Station #3: Logarithmic and Exponential Functions

Directions: Find the inverse of each equation below.
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Directions: Graph each of the following. State the domain, range, asymptotes, and transformations from the
parent function.
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Station #4: Radical & Absolute Value Functions

Directions: Graph‘ each of the following. Then, state the domain and range and any transformations upon the

parent function.
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Station #5: Composition of Functions

Directions: Let f(x) = 2x -1, g(x) = 3x, and h(x) = x2 + 1. Compute the following:
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Station #6: Step Functions

1. The admission rates at an amusement park are as follows.
e Children under 5 years old: free )
Children between 5 years and under 12 years: b S
$10.00 ‘ U < :
e Children between 12 years and under 18 years: _ _
$25.00 o4 *=>
e Adults: $35.00 _f_%' N R
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2. Here are first-class mail rates for packages from the US Postal Service's website. Graph the table below on

the graph provided. Label each axis appropriately.
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1 ounce s1.22 :
. ounces 5139 ¢ 3
3 ounces 51.56 ’
1 ounces $1.73 T
* ounces S1.90 5
6 ounces 5207 y
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